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BT & WSS Ieg T s T % z
X 53,888 125,123 61,048 64,075
=z 606 1,500 746 754
REFZHT 1,624 3,801 1,922 1,879
FEET 155 377 214 163
FE T 1,070 2,410 1,195 1,215
MR 1,303 2,886 1,356 1,530
NG 236 514 275 239
FRET 1,759 4,045 1,956 2,089
AE 768 1,897 927 970
itz 1,744 4127 2,001 2,126
Fazsdt 2,062 5,203 2,558 2,645
TIEET 2,728 7,133 3,476 3,657
i 631 1,550 784 766
TERET1T 801 1,764 887 877
TERET2T 792 1,895 935 960
TERET3T 876 2,268 1,104 1,164
TERET4AT 488 1,174 593 581
TERETST 556 1,377 710 667
3,513 8,478 4,229 4,249
J\E=FHT 807 1,914 931 983
J\EILHT 2,161 5,149 2,517 2,632
J\ETET1T 5 8 5 3
J\BTET2T 1,250 2,567 1,185 1,382
J\BTET3T 535 1,127 556 571
1,790 3,702 1,746 1,956
J\EB R ZHT 446 774 358 416
®/\H 519 1,156 577 579
B 2,274 5,464 2,704 2,760
EH 1,138 2,701 1,352 1,349
EFALET 2,283 5,259 2,502 2,757
EFIRET 1,687 3,372 1,631 1,741
EHIFKHET 2,613 5,726 2812 2,914
R R HET 3,554 8,146 4011 4,135
R LT 1,182 2,944 1,445 1,499
PRI RHET 1,183 2,728 1,343 1,385
EH K ET 1,447 3,202 1,599 1,603
RBR 27 28 24 4
ER1T 508 1,227 602 625
ER2T 476 1,156 569 587
ER3T 268 726 342 384
ER4AT 477 1,195 603 592
ERST 237 568 277 201
ER6T 430 1,005 511 494
2,423 5,905 2,928 2,977
1=H 5433 13,136 6,369 6,767
RE 706 1,534 720 814
¥& _EHT 1,514 3,576 1,770 1,806
RErL 307 710 346 364
= [RET 2,222 4,104 1,748 2,356
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